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3agaHune 1

1 BapuaHT
2% = 32
A) 5
B) 4
B) 6

r 16

ZBapVIaHT
3% = 243
A) 4
5) 5
B) 6
r 81



2 3aaHme

1 BapuaHT 2 BapuaHT
36—X _ 33x—2 . 78—X — 74X-2
A) 1 A) -2
B) -2 b) 2
B) 2 B) -1
[)-1 M1




3agaHue 3

1 BapuaHT

2 BApUaHT
4% = 32 " 4% =128

A)8 A) 32

b) 3,5 B) 3,5

B) 2,5 B) 6

r) 4 M 4




3agaHue 4

1 BaApPUaHT 2 BAPUaHT
SX _ L . 3X = i
625 - 81
A) 0,4 A) 0,4
B) -4 B) -4
B) 0,25 B) 2,5
[) 4 [) 4




1 BapuaHT
1
27" = —
3
A) 0,3
5) -3
B) 1/3

)-1/3

3agaHune 5

2 BapuaHT
64% = >
T4
A) 0,3
b)-3
B) -1/3
r1/3



1 BapuaHT

2\ 9
3/ 4

A)1l
b) -2
B) 2
[) -1

6 3agaHme

2 BapuaHT

4\ 25
6 T
A) -2
B) 2
B) -1
N1



7 3agaHune

1 BAPUaAHT 2 BaApPUaHT
86_2X = 1 . 98—4X —
A)2 A) 2
b) 3 B) 3
B) 4 B) 4

)0 Mo




8 3agaHme

1 BapuaHT 2 BapuaHT
3x2+1 — 3 ) 51+x2 — 5
A) 2 A) 2
B) 3 B) 3
B) 4 B) 4
Mo ro




A) 3
b) 2
B) 1
MO
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9 3agaHume

8

27

A) 3
b) 2
B) 1
MO
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2 BapuaHT
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2X
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27



10 3agaHme

1 BApuaHT 2 BApUaHT
« Onpepnenute, Kakoe
* Onpepenute, kakoe npeo6pasoBaHue
npeobpasoBaHue BbINOMNHEHO
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11 3agaHue

1 BapuaHT
Onpepennte, Kakoe
npeobpasoBaHue
BbINOMTHEHO
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2 BapuaHT

* Onpepenure, Kakoe
npeobpasoBaHne
BbINONMHEHO
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OTBETbI

BapuaHT 2 BapuaHT
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. B .
10. BBEPX HA 3 * 10. BNeBO Ha 4.
11 BnpaBoO HaA 5 * 11. BHU3 HA 2
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